(Bell Ringer #16:)

Solve for x.

—@)=8x—12
U x-p=x-12
it

By p=-13
6

S S
=279 X=
?gf B

Tx +3(2x + 1) =29
x4 2 =AU
15x43°%



Upcoming Schedule

Red Day (I & 5%) | Black Day (4 & 8th)

Friday Monday
Quiz Quiz
Quarter Exam Review Quarter Exam Review
Tuesday Wednesday

Quarter Exam Quarter Exam




Homework Check

Section 2-3 Practice #1-8



Section 2-6 Algebraic Proof

Algebraic proof - a proof that is made
up of a series of algebraic statements



Properties of Real Numbers
The following properties are true for any real numberss a, b, and c.

Addition Property of Equality Ifa=btlenat+te=b+ec

Subtraction Property of Equality It a=b/thena—c=b-c

Multiplication Property of Equality Ifa=b,thena-c=b-c

Division Property of Equality If a=Dband ¢ # 0, then g — g

Retlexive Property of Equality a=a

Symmetric Property of Equality If a=bthenb=2a

Transitive Property of Equality Ifa=bandb=c thena=c

Substitution Property of Equality It a = b, then a may be replaced by
b in any equation or expression

Distributive Property a(b + ¢) =ab + ac




Example 1

Justify each step when solving an equation.

Prove that if -5(x+4) = 70, then x = -18. Write a justification for each step.

—5(x +4) =70
-5%x -20=70

Sx-20 +20="70120
5% =290
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Example 2

Justify each step when solving an equation.
Prove that if 4x - 8 = 16, then x = 6. Write a justification for each step.
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Example 2

Justify each step when solving an equation.
Prove that if 6x - 2 = 4x + 8, then x = 5. Write a justification for each step.

6x —2=4x +8
by -2 =4x = Yx 4+ ~4a
Ax-2 =%
Ax-2+ L =]+
ax= |0
2x _ 10
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X=5
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Example 2
Justify each step when solving an equation.
Prove that if 8x - 11 = 2x + 1, then x = 2. Write a justification for each step.
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Whiteboard Activity
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Homework

Section 2-6
Skills Practice # 1-6



